Verify power is off to the unit. 

Use a grounding strap and work at an anti-static station.

[image: image1.jpg]


Disconnect the wire going to the OPC heaters with in-line connector located on right side of OPC. Disconnect bottom connector going to PCB on left side of OPC. 

Disconnect 1/4 tubing from bottom of OPC. 

Disconnect 1/8 tubing going to bottom right side of OPC. 

Disconnect 1/8 tubing going to “T” on the middle, bottom back of the OPC. 

Ensure all of these connections are disconnected before unbolting OPC from bottom of column. 

Using a 3-32 Allen wrench completely loosen all four 4-40 x 9/16 screws which secure the OPC to the column. The OPC should now be able to move freely and can be removed from the bottom of the unit. NOTE: there are two o-rings (2-06/2-028) that usually stay seated in the bottom of the column spacer when OPC is removed.

[image: image2.jpg]


[image: image3.jpg]LASER ASSEMBLY
ASSY-0098

KNIFE EDGE
MP-1003 2X
4-40 X 5/8 SHCS

2X :
1/16" O.D. TUBE
6-40 FLANGELESS NUT & FERRULE
PLUM-0197 & PLUM-0198 2X

O-RING
2-011

2-56 X 3/16 BUTTON HD
2X

LASER ISOLATOR
MP-1124

OPTICS BODY

LASER WINDOW
MP-0946

OP-0143

TEMP SENSOR

EL-0038
CARTRIDGE HEATER’>\
HTR-0084 4X

<]

4-40 X 5/16 SHCS

MIRROR MOUNT
MP-0947

4-40 X 5/16 SHCS
2X MIRROR
0oP-0137
OUTLET O-RING
MP-1111 2-024

/

4-40 X 5/16 SHCS
4X

=
3

O-RING
2-014

MP-1122
2-56 X 1/4 SHCS

S

2X
BEAM STOP BEAM DUMP
DETECTOR SPACER e OP-0142 MP-0959
MP-0943 2-020 et =
P

LENS
OP-0140

4-40 X 3/16 SHCS
4X

LENS MOUNT
MP-0944









Figure 10. Bottom View of Mounted OPC on Column


Figure 11. Removed OPC Assembly


Figure 14. OPC Assembly Exploded V

Verify two o-rings are in place on the bottom of the column prior to installing OPC. Install OPC back onto unit using four 4-40 x 9/16 screws. Do not Loctite screws. Reattach ¼ hose and two 1/8 hoses. Reattach cables going to PCB and to heater.

Remove 3 Connectors for CDPE eelectronics. Remove CDPE electronics stack for Old OPC. It is held onto the unit by 4   6-32 screws from the back of the unit. It is easier to remove both boards while they are still attached to each other. Install new set of PCBS.
Turn unit on and check 1st Stage Monitor voltage and particle counting of OPC. If 1st Stage is still to high or particle counts unacceptable, contact DMT.

Return old OPC and CDPE electronics stack to DMT to ensure proper credit




























#10 


1/4 tubing








�





#9


PCB Connector





#12 


1/8 inch tubing





#14 


OPC Mounting Screws








#14 


OPC mounting screws








�





CAUTION:


DO NOT DISCONNECT 3-PIN CONNECTOR GOING TO LASER AT ANYTIIME.


 STATIC DAMAGE TO LASER COULD HAPPEN











�


























